2203051 PLUGS

| 230-2005 | B57k#ASEREE  Protective Vent Plugs

)

PATENTED Al o%d

= F 5 (Metric) mm gons
ompliant

B C CA D F
Washer Mounting Membrane = Washer  Protective
(Gasket) Body Supporter  (Gasket) Ca

]
#qE  BEAEE SRER BRBM ERLES

P

« IRTFIRAE : AFITF (1SO Metric | EN60423 ) » fTFEERERIREE o ( RIRTHETTEIE ) o

- EMIE : MHRMEEIINREAIZBES |/ IP68 HiR ZEBEBEZR ©

* BHIKEERR : IP68

e TYERRE : -40°C = 105°C ( -40°F = 221°F ) ; BERREZ 160°C ( 320°F ) o

- E@IFM  TEREFINEEFTERBIIRIBOHNEESH - B IVRIEEFEERSK » BUIRFEEER ? B ZRAXIRZISEAPTISMREDR
MELEARBPAREIR - BLREKITIBLER - HREIRPE - SRENEST /R ENEIRIEIR - MABBRGEHIIKSE - 1
HEIRERME B FSH B - HE—HIRRS N BERARNERBIESR - BAERBEAREFER2BHRE L - M2
BEMERFIRIBERBOVBSKERST » TNEEE A ARV AEBATIFRIIEEREY ePTFE SRIHEIEME - ERMRILEREEZR MR -
MARBEEKIDBE - EBIRBEAIBZEREOARRINGGETE - HEEREERMEANZTEREEERE EAERILRHEFRBZE » N
HERFZER VBB o M{FEREF BB/ IRIBEADL - REELEAFIRISRKZBERNR | ERRNERIE @ NMERERIKERH
KM RFR  BEESHRBVERFRARIEF @ BEHEFIINHEFERBIRBAINTESD ©

817 : mm
IRTFARAS #@ Sk Cat. No. m%gn}arfé mgiq@é ﬂ%ﬁ%ﬁ £ E =i B %
. s 4 7 rea ane reas

Thread (s BRI i 565 AL r R T
I o L | o i
*VGA-M12 X 1.5-ST B G SG 12 12~12.3 10 16 50
= * VGA - M12 X 1.5 - ST - PAVO B G SG 12 12~12.3 10 16 50
12 M12X1.5 *VGA-M12X1.5-ST-V0 B G SG 12 12~12.3 10 16 50
Fy * VGA-M12 X 1.5 - ST - F1 B G SG 12 12 ~12.3 10 16 50
* VGA -M12 X 1.5 - ST - VOF1 B G SG 12 12~12.3 10 16 50
* VGA - M12 X 1.25 B G SG 12 12~12.3 12 16 50
3 * VGA - M12 X 1.25 - PAVO B G SG 12 12~12.3 12 16 50
12 M12X1.25 * VGA - M12 X 1.25 -V0 B G SG 12 12~123 12 16 50
five * VGA-M12 X 1.25 -F1 B G SG 12 12~12.3 12 16 50
* VGA - M12 X 1.25 - VOF1 B G SG 12 12~12.3 12 16 50

ePTFE §E#l3¥: (1P68 &%k )

B 2K

Liquid B E

Tight  pust and Dirt B R

é a Resistance  Ajr and Moisture
Breathing

oy,
TeE 'El é :g';j g t' ik

218

AERERZBIBER ITAREEREARRMEN @ RARBITBA] © Dimensions and specifications may be changed without prior notice.




